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3 point problems (Séuara 3 povadwv)

1. Carrie has started to draw a cat as shown. She finishes her drawing by adding more graphics. Which of
the figures below can be her drawing?

H Katepiva éxel apyiosl va oxedlalel pa yatra onwg paivetat. TEAELWVEL TO OXESLO TNG MPOcBETovTag
nepLocotepa ypadika. Moo ano ta mopakAtw oXALOTO UNOoPEL va eival To oXESLO TNG;

2. The Mayan people wrote numbers with dots and bars. A dot is written for 1 and a bar for 5.
How did they write 17?

H ¢ulr} Mayla éypadav aptOpole e KOUKKISEG Ko pnapes. Mua Koukida ypadetat yia 1 kat pia
punapa ywa 5. Nwg éypaygav to 17;

(E)

° o0 0000 PP
| |
(A) — (B) (C) (D) (E)
3. 20X 19+20+19 =
(A) 389 (B) 399 (C) 409 (D) 419 (E) 429

4. There are 14 girls and 12 boys in a kindergarten. If half of the children go for a walk, at
least how many of them are girls?

Yniapyxouv 14 kopitola Kat 12 ayopla o€ £va vAMLOywyeLo. Av Ta PLoA TTodLd ave yia pia BoAta,
nooa TOUAG)LoTOV amnod auta ival kopitoly;

(A)5 (B) 4 (€)3 (D) 2 (E)1

5. The sum of the dots on opposite faces of an ordinary dice is equal to 7. Which of the following shows
the ordinary one?

To dBpolopa Twv KOUKKISWV oTLg avtifeteg OYeLg evog KavovikoU {oplov gival ico e 7.

Moo amnod ta MapPoKATW SELXVEL TO KAVOVIKO;
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6. Which of the following geometric figures is not in this design?
Mola amod Ta MOPAKATW YEWUETPLKA oXALOTO SEV Elval OE AUTO TO OXESL0;

(A) / \tria ngle/tplywvo

(B) usquare/tetpdywvo

N

(C) " regular hexagon/kavoviké e€dywvo

(D) Oregular octagon/Kavoviko OKTAywVo

AT
’f .\

)

kY Jr’
(E) ~~—~ regular dodecagon/kavoviko Swdekdywvo

|
7. Laura wants to colour a 2 X 2 square of this figure 1

How many possibilities are there?

]
|
=

H NAouila B£AeL va xpwpatioel éva TETpAywvo 2 x 2 O€ 0UTO TO oXNHa
Noosg SuvatdtnTeG UNAPXOLV;

(A) 5 (B) 6 (C) 7 (D) 8 (E) 9

8. The 6 smallest odd natural numbers are written on the faces of a dice. Toni throws it three times and

adds the results. Which of the following numbers cannot be the sum?

OL 6 pikpotepol nepitroi puoikoi aplBpoi eivar ypappévol otig £6peg evog {aplou.
O Taoog pixvel to {aptL Tpelg $opég Kal MPooBETel ta anoteAéopata. Molog and Toug MAPAKATW

apOuoug v unopel va gival to adpolopa;

(A) 21 (B) 3 (C) 20 (D) 19 (E) 29
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9. The sum of the ages of a group of kangaroos is 36 years. In two years’ time the sum of their ages will
be 60 years. How many kangaroos are in that group?
To daBpolopa Twv NAKLWY pLoG oOpadag Koykoupo eival 36 xpovia. e SUo Xpovia to Abpoloua Twv
nAkuwv Toug Ba gival 60 xpovia. Méoca Kaykoupo eivat otnv opada;

(A) 10 (B) 12 (C) 15 (D) 20 (E) 24

10. Michael paints the following buildings made up of identical cubes. Their bases are made of 8 cubes.
Which building needs the most paint?

O My GAng Badel Ta mapakdtw Ktipla mou aroteAovvtal anod idtoug kUBoug. OL BACELG TOUG
anoteAouvtot anod 8 kUBouG. Molo KTiplo XPeLATETAL TRV TEPLOGOTEPN UIIOYLY;

(A)@ (B)@ (C)@ (D)@ (E)@

4 point problems (Séuara 4 povadwv)

11. On each of three pieces of paper a three digit number is written. Two of the digits are covered.
The sum of the three numbers is 826. What is the sum of the two covered digits?

Ze KAOs éva amod ta Tpic KoppATia Xaptov ypadetal évag tpudridplog apBudc. Avo and ta Yndia
KaAuTttovtoat. To dBpolopa Twv TpLwv aplBuwv ivar 826. Noto gival to ABpolopa Twv U0 KAAUUUEVWVY

Yndiwv;
(A) 7 (B) 8 (C)9 (D) 10 (E) 11 ) m

12. Riri the frog usually eats 5 spiders a day. When Riri is very hungry, she eats 10 spiders a day. She ate
60 spiders in 9 days. For how many days was she very hungry?

O PoUANG o Batpaxog Tpwel cuviBwg 5 apdaxveg tnv npépa. Otav o PoUAnG eivat moAU mewvacpévog,
Tpwel 10 apayveg tnv nuépa. Epaye 60 apdaxveg o€ 9 nuEPEC. Na MOOEG LEPEG TOV TTOAD TTEWVAOUEVOG;

(A)1 (B) 2 (€3 (D)6 (E)9

13. AliBaba and 40 thieves equally divided 42 identical bags of gold coins. Each of them got one full bag
and 2 coins. How many coins did a bag contain?

O «AAL Mntapnd kat ot 40 KAEpTeG» polpaotnKav §icou 42 (651G COKOUAEG XPUOWV VOULOUATWY. O
KoO£vag amd autoUg MAPE pLa YERATH oakoUAa kot 2 vopicpata. Néca vopicpata eixe n cakoUAa;

(A) 42 (B) 81 (C) 82 (D) 84 (E) 41
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14. Five equal squares are divided into smaller squares. Which square has the largest black area?
Névte ioa Tetpdywva Ywpilovral o€ LKPOTEPA TETPAYwWVA. 010 TETPAYWVO £XEL TO LEYAAUTEPO HLAUPO
EUPado;

(A)E; (B)E (C)E (D)E (E)ﬁ

15. A big triangle is divided into equilateral triangles as in the figure. The side of the
small gray triangle is 1 m. What is the perimeter of the big triangle?

‘Eva peydho tpiywvo xwpiletal og 1odmAgupa tpiywva 6nwg oto oxfipua. H nAsupd tou
HikpoU ykpilou Tpywvou ivat 1 m. Mowa gival n MEPINETPOG TOU LEYAAOU TPLYWVOU;

(A)15m (B) 17 m (C) 18 m Im
(D)20m (E)21m

16. In the garden of a witch there are 30 animals: dogs, cats and mice. The witch turns 6 dogs into cats.
Then she turns 5 cats into mice. Now her garden has the same number of dogs, cats and mice.
How many cats were there at the beginning?

ZTov KAMO oG paylocag undpyxouv 30 {wa: oKUAOL, YATEG Kal Tovtikia. H pdylwooa petatpéncel 6
OKUAOUG 0€ yateg. MeTd peTatpénel 5 yateg o€ movtikia. Twpa 0 KAToG tne £XEL TOV (610 aplOpo okUAwv,
YATWV Kot TOVTIKWV. MOoEg ATaV oL YATEG OTNV apXn;

(A) 4 (B) 5 (C)9 (D) 10 (E) 11

17. With blocks of dimension 1cm X 1cm X 2cm, you can build towers as shown in the picture.

How high is a tower that is built in the same way with 28 blocks?

Me nAéypa Sltaotdoewv 1cm x 1cm x 2cm, pnopeite va Gptiaete nOpyous Onmwg dpaivetal oTnv KOVAL.
Noco YnAd seivar évag mipyo¢ mou eivar XTOpEVOG MeE TOV (610 TpoOmo pe 28 TtOoUPBAa;

1 [ ﬂ#ﬁ
0D 00D UUUD OUUUD

(A) 9cm (B) 11cm (C)12cm (D) 14cm (E) 17cm

18. There are 11 wagons in the train, 350 passengers are traveling in them. In any three consecutive
wagons there are 99 passengers. How many passengers are in the sixth wagon?
Itnv apagootolyio urtdpyouv 11 Bayovia, 350 enifateg Tafldsvouv LEGA GE AUTA. Z€ otoLadTOTE Tpia
Sradoyika Bayovia Bpiokovtan 99 emipateg. Noool eniPareg Bpiokovran oto £KTo Bayovy;

(A) 32 (B) 33 (C) 39 (D) 46 (E) 53
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19. Alex, Bob and Carl go for a walk every day. If Alex doesn't wear a hat, then Bob wears a hat.
If Bob doesn't wear a hat, then Carl wears a hat. Today Bob is not wearing a hat. Who is wearing a hat?
0 AAE€avdpog, o BaoiAng kat o Kwotag kavouv pia BoAta kaBe pépa. Av o AAé€avdpog Sev dopiaoel
Kamnélo, Tote o BaoiAng ¢opdel kanélo. Av o Baoilng 8ev dpopéosl kamnélo, tote o Kwotag popdst
KaméNo. Zruepa o BaoiAng 6ev popael kanélo. Notog popdsl KAMEAO;

(A) Both Alex and Carl (B) Only Alex (C) Only Carl

(D) Neither Alex, nor Carl (E) It is not possible to determine.

(A) Kat ot 800 ANE€avdpoc katl KwaTtag (B) Movo o ANE€EavSpog (C) Mo6vo o Kwotag
(D) OUte 0 AAEE€avpog, oUte o Kwatag (E) Aev elvat duvatd va mpoodloplodei

20. Each of the following pictures shows the net of a cube. Only one of the resulting cubes has a closed
line on it. Which one?

KABe pia amo tig mopakatw ELKOVEG SELXVEL TO avanmTuyua evog KUBou. Mdvo évag and toug KUBoug
TLOU MIPOKUTTOUV €XEL Pl KAELOTH YO TAvw Tou. Molog amnt' 6Aoug;
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5 point problems (3¢uara 5 povadwv)

21. The cube shown in the figure has a positive integer written on each face. The products of the two
numbers on opposite faces are the same. What is the smallest possible sum of the six numbers on the
cube?

O kUBoG mov daivetal oTo GXAHA EXEL Eva OETIKO AKEPALO YPAUMUEVO O KABE TAsUPA. Ta YWVOUEVA TWV
600 aplOuwv oe anévavtl TAeUpEC ival Ta idla. Molo ival To pkpotepo Suvatd ABpolopa Twv £EL
aplOuwv otov KUPO;

15/

(A) 36 (B) 37 (C) 41 (D) 44 (E) 60
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22.

oo Neo/ 1V \n'n//.\
PN

Six identical black beads and three identical white beads are arranged on weighing scales as shown in
the picture. What is the total weight of these nine beads?

'E€L 6ieq palpeg odaipeg KoL Tpelg OpoLeg AsUKEG odaipeg cival Sratetaypéveg os (uyaplég OMwG
daivetaw otnv lkova. Molo givat To GUVOALKO BAPOG AUTWV TWV EVVEA ODALPWV;

(A)100 g (B)99 g (C)9%6 g (D)% g (E)90 g

23. Robert made 5 statements (A) - (E), exactly one of which is false. Which one?
O PoPépto €kave 5 SnAwoelg (A) - (E), akplpwg pia amnod tig onoieg eival Peudng. Mowa amn' OAEG;

(A) My son Basil has 3 sisters/ O ylo¢ pou o BaoiAng €xet tpelg adeAdEg
(B) My daughter Ann has 2 brothers/ H k6pn pou n Avva €xeL 2 adeAdoulg
(C) My daughter Ann has 2 sisters/ H kopn pou n Avva £xeL U0 adehdég
(D) My son Basil has 2 brothers/ O yLog pou o BaciAng £€xetL 2 adehdpouig
(E) I have 5 children/ Exw 5 maudia

24. Benjamin writes an integer in the first circle and then fills the other five circles by following the
instructions. How many of the six numbers in the circles are divisible by 3?

O Beviapiv ypadet £vav aképalo oTov TpwTo KUKAO Kol 6T CUVEXELA YERLTEL TOUG AAAOUG TTEVTE KUKAOUG
akoAouvBwvrtag Tig 06nyieg. MéooL arnod toug £§L apldpolG otoug KUKAOUG Statpouvtol ME To 3;

O=~O=0O=0=0O=0
—_— —_—

(A)1

(B) both 1st and 2nd are possible / 1°¢ kat 2°¢ eivat duvartol

(C) 2

(D) both 2nd and 3rd are possible / 2°¢ kot 3°¢ eivat Suvartol

(E) both 3rd and 4th are possible / 3°¢ kat 4° eival Suvatoi




Thales Foundation
KANGAROO MATHEMATICS 2019 / KANGAROO MAGHMATIKA 2019

LEVEL 5-6 / ENIMNEAO 5-6
25. The cardboard is folded intoa 2 X 1 X 1 box.
To xaptovL SumAwvetal o€ Kouti2 x 1 x 1.

Which picture does NOT show this box?
Nowa ewkova AEN gpdaviel avto to kouti;

26. Emily took selfies with her 8 cousins. Each of the 8 cousins is in two or three pictures. In each picture
there are exactly 5 cousins. How many selfies did Emily take?

H Aqudia niipe pwroypadieg «oéAdu» e ta 8 EadéAdia tng. Kabe éva ano ta 8 {adéAdLa eival oe Suo
N tpelg pwroypadieg. e kaOe dwroypadia undapxouv akplpwg 5 adépdia. Ndceg «oéAdL» MAPE n
AuytiAia;

(A)3 (B) 4 (C)5 (D)6 (E)7

27. Jette and Willi are throwing balls at two identical pyramids of 15 cans. Jette knocks down 6 cans with
a total of 25 points. Willi knocks down 4 cans. How many points does Willi score?

OilNavva kat o BaciAng pixvouv undAeg os U0 mavopolotuneg nupapideg 15 doxeiwv. H Mavva ytuna
6 doxeia e ouvoAlkd 25 ndvtoug. O BaoiAng ytund 4 doxeia. Moooug novioug okopapel o Baoiing;

after Jette's throw after Willi's throw
MEeTd To KTUMO MEeTd To KTUMO
™¢ Mavvog Tou BaaiAn
(A) 22 (B) 23 (C) 25 (D) 26 (E) 28



Thales Foundation
KANGAROO MATHEMATICS 2019 / KANGAROO MAGHMATIKA 2019

LEVEL 5-6 / EMINEAO 5-6

28. Every digit on my digital clock is composed of at most 7 segments, as follows:
KaBe Yndio oto Pndrako poAdt pou amoteAeital To oAU ano 7 THAROTA, WG EERG:

N gy O
I_| II::__II:I I Ilj

But, unfortunately, in every set of 7 segments the same 2 segments don't work. At this moment my
clock shows:

Opwg, Suctuxwg, o KAOE cUVOAO 7 TURUATWY Ta iSla 2 Tt Sev AsttoupyoUv. AUTH Th OTLYUA TO
POAOL pou Seiyvel:

What will it show after 3 hours and 45 minutes?
TL O SeifeL petd amod 3 wpeg Kot 45 Aentad;

NN RN .
w2 el = ol 23

(D)= (E) ssa=d

29. Linas builds a4 X 4 X 4 cube using 32 white and 32 black 1 X 1 X 1 cubes. He arranges the cubes
so that as much of the surface of his large cube is white. What fraction of the surface of his cube is white?
O Aewvidag xtilel éva kUBo 4 x 4 x 4 xpnoiponotwvtog 32 AeukoUg Kat 32 paupoug 1 x 1 x 1 kOBoug.
TaKTOTOLEL TOUG KUPBOUG £TOL WOTE TO LEYOAUTEPO HEPOG TNG EMLPAVELAG TOU LEYAAOU KUBOU TOU va gival
Agukd. Moo TuApa TG EMPAVELOG TOU KUBOU TOU €ival AEUKO;

(A) 1/14 (B) 1/12 (C) 1/23 (D) 1/34 (E) 1/38

30. Zev has two machines: one exchanges 1 white token into 4 red tokens, while the other exchanges 1
red token into 3 white ones. Zev has 4 white tokens. After exactly 11 exchanges, he has 31 tokens. How
many of those are red?

H Zwn €xeL 800 PNXavEG: pia avtaAAdooeL 1 doTpn PAPKaA O 4 KOKKIVEG LAPKEG, EVW OL AAAEG
avtaAAdooouv 1 KOKKIVN o€ 3 AeUKEG. H Zwr) €XeL 4 AEUKEG LApKeG. MeTd amnd akplBwe 11 avrtaAAayEg,
€XeL 31 papkeG. NAOEC AMO AUTEC EVOLL KOKKLVEG;

(A) 21 (B) 17 (C)14 (D) 27 (E) 11

END / TEAOZ



